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'Hl 1 | N3 MeTannos I

ypaBHeHMe

2Mqg + O2 = 2MgO
S g g



ypaBHeHMe

S+ O2 = S02




N3 ocHOBaHuUU

ypaBHeHMe

Cu (OH)2 —» CuO + H20




3 coneun

ypaBHeHNe

2KMn04—> KzMnO4 + Mn02+02




N3 Kucnor

ypaBHEHue

H2CO3 — CO2 + H20




OCcHOBHbIe okcuAabl

C KUCINOTHbIMU

oKCunaammn
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ypaBHeHMe

K20 + H20 = 2KOH



CaO+CO2 — CaCO3




C KkmcaotTamm

ypaBHEHME

CuO+2HCI — CuCl2 + H20




KucnotHble okcuabl

C OCHOBHbIMU
HeMex rad oKcUaamu

\ C ocHoBaHUAMY




ypaBHeHMe

SO2 +H,0= H,SO
(2



CaO+CO2 — CaCO3




ypaBHeHMe

CO2 +Ca(OH)2= CaCO, +H20
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